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TrigonometryExercise5 for No.9844

Car]
1 2 a
= arcSin( = arcSm( —J = arcCos(— LJ ¢
2 2 2
[ h
Nol =| 4 =arcSin(-3) .5= arcTan[ —j 6= arcTan(«/;) , .| @
3 M
| 2 U
.7=arcSin(-1) .8=arcCos| T .9 =arcCos(0) T
L i M
[ -1 3 .
.1 = cos| arcCos ; .2 =Cos| arcTan| — T .3 =Sin(arcTan(-1))
-1 I (m
.4 = Tan| arcSin| — .5 =arcTan| Tan| — — .6 = arcCos| Sin| —
No2 = 2 6 6
- . (17= 5n 13n
7= arcSln[Sln p D 8= arcCos(Cos( 7)] 9= arcTan(Tan( p J
V3 4 10 7 3
.10 = Csc| arcTan| T .11 = Sec| arcSin| Cos 3 .12 = ArcSin| Cos| ArcSin T
[ M
i ) 1 7 a
.1 =Csc(arcTan(7)) 2= Sln[arcCos[;D 3= Cos[arcTan(?D {
(4 (s . ”
No3=| .4=Cot| arcSin| — .5 = Tan| arcSin| —— .6 = Sin| arcTan —— , | @
9 7 5
M
5 3 4 U
.7 =Sec| arcCos| ——— .8 = Cos| arcSin| — .9 = Tan| arcCos| =
L 7 4 7 ] T
L/
[ , 1 (=2 4 (1 ]
= Sm[arcCos[—j + arcSmL—D 2= Cos[arcCos(—j + arcSm(—D
3 3 7 2
2 1
No4 = 3= Sin(Z arcSin(gD 4= COS[Z arcSin(gD
. 157 ) Tn ) 8
.5 =arcTan| Cos(3 1) + Sin —T .6 = Csc| arcCos| Sin —T + arcSin| Cos T
M
No5 =Sin(2 arcCos(a)), ,| U
T
M
No6 = Cos(2 arcCos(a)), ,| U
T
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TrigonometryExercise5 for No.9872

C ]
2 a
.1 = arcSin| _T .2=arcCos(-1) .3 =arcSin(1) ¢
h
-1 2
Nol=| 4= arcCos(—j S= arcCos(Lj 6= arcCos(«/;) , .| @
2 j_ M
1 3
7= arcSin[—J 8= arcTan[—J .9 =arcTan(0) U
2 3 i T
L -/ -
i 2 | (A2)) 1 [M]
.1 = cos| arcCos| T .2=Sin(arcTan(1)) .3 = Tan| arcSin 5 a
-1 - t
.4 =Cos| arcSin| — .5 =arcTan| Tan| — .6 = arcCos| Sin| Z h
No2 = 11 P L 57 > - @
.7 = arcSin| Sin| — .8 = arcCos| Cos| — .9=arcTan| Tan| — —— M
6 6 6 U
«/; 4n ) 1 T
.10 = Sec| arcCos| —T Al = Csc arcSin| Cos .12 = ArcCos| Sin| ArcCos| 5 )
Far]
. 5 . 2 a
.1 = Sec| arcSm 2 .2 = Sin| arcTan| z .3 = Sin| arcCos| —T ¢
h
2 2 -3
No3=| 4= Cos(arcSin[—jJ 5= Cos(arcTan[— £D 6= Cot(arcCos[—Jj , .| @
5 5 7 M
s 3 5 U
.7 =Tan| arcSin| ——— .8 =Csc| arcTan| — .9 = Tan| arcCos| —
L 6 4 8 | T
L/
Cur]
I . ! (2 5 (-5 a
.1 =Sin| arcCos| T |+ arcSin| = .2 =Cos| arcCos| ~ | + arcSin| — ¢
3 5 9 6
1 3 k
No4 = .3 =Sin| 2 arcSin| = .4 =cos| 2 arcCos| ~ , .| @
2 4
M
Sn (3n ) 177 . 7n
.5 =arcTan| Cos| — |+ Sin| —— .6 = Sec| arcCos| Sin| — + arcSin| Cos| —/— U
L 2 2 6 3 i T
L / -
M
No5 = Sin(2 arcSin(a)), ,| U
T
M
No6 = Cos(2 arcCos(a)), ,| U
T
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TrigonometryExercise5 for No.9873

C ]
3 2 a
A= arcCos[— g} 2= arcTan(—«/g ) 3= arcCos[%J ¢
2 i
Nol=| .4=arcTan(0) S= arcSin[— —] 6= arcCos(«ﬁ) , .| @
2 M
(43 . U
.7 = arcSin T .8 =arcCos(-1) .9 =arcSin(0) T
L i M
_ [ (-IJJ [ ' (ljj ( . (ﬁ]J _ _M_
.1 =cos| arcCos| — .2 = Cos| arcSin| ~ .3 =Tan| arcSin| ——
2 2 2 a
/2 !
. . S m . T
4= Sln(arcCos(— TD 5= arcSm[Sm(ED 6= arcSln(CosE; J h
NO2 = > s @
. Tn Tn Tn
.7 =arcSin| Sin| ——— .8 =arcCos| Cos| — .9=arcTan| Tan| — M
6 3 6 U
ﬁ [ Tm . (-1 T
.10 = Csc| arcCos T .11 = Cot| arcCos| Sin| ? .12 = ArcSin| Cos| ArcSin| ; ,
"]
5 -1 (43 a
.1 = Cot| arcTan| ; .2 =Cos| arcTan ? .3 = Csc| arcSin T ¢
h
3 2 -2
No3=| 4= Tan(arcCosE—D 5= Sin[arcTan[ij] 6= Sin(arcCosl—D ., .| @
7 7 5 M
4 2 -2
7= Cos(arcSin[—D 8= Sec(arcCos[— LD 9= Tan[arcSin(—D v
L 9 3 3)) ] T
(= / -
"]
i ) 5 (-3 1 (3 ] a
.1 = Sin| arcCos| ~ | + arcSin| — .2 =Cos| arcCos| ~ |+ arcSin| — t
6 8 2 8
1 1 h
No4 = 3= Sin[2 arcCos[—D 4= 005[2 arcSin[—D , .| @
4 2
M
. 17w . 117w . T
.5 =arcTan| Cos(6 m) + Sin| — 5 .6 = Sec| arcCos| Sin| — p + arcSin| Cos| — E u
L - T
!

No5 =Sin(2 arcCos(a)),

b}

No6 = Cos(2 arcSin(a.)),

k)
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TrigonometryExercise5 for No.9884

C ]
| 2
I =arcSin(-1) .2 =arcCos| — T 3= arcTan(«/;) ¢
-1 h
Nol =| .4=arcCos(-5) .5 =arcCos(0) 6= arcSin[;] , .| @
M
2 3 3
7= arcCos[Lj 8= arcSin(LJ 9= arcTan(— £J u
| 2 2 3 )] T
/

) M
.1 =Tan(arcTan(-1)) .2 =Cos( arcTan(«/?)) .3 = Tan| arcSin| T a
A2 5w t
.4 = Sin| arcCos| _T .5 = arcSin| Sin| — .6 = arcSin| Cos| ? h
NO2 = > s @
. . Iz S5n
.7 = arcSin| Sin| — .8 = arcCos| Cos| — .9=arcTan| Tan| — ——— M
6 6 U
3 5n . V3 T
.10 = Cot| arcTan T .11 = Cot| arcCos| Sin| ? .12 = ArcCos| Sin| ArcCos| T ,
o7a
, ﬁ 3 2 a
.1 = Sin| arcTan .2 =Cos| arcTan Z .3 = Sec| arcTan 7 ¢
h
. 2 5
No3=| 4= Tan[arcCo ( D 5= Sm[arcCos( D 6= Cot(arcCos(—D ., | @
5 v w
1 2
T = Cos[arcSm( D 8= Tan[arcSln(;D 9—Csc[arcSin[—5 D l]{
i M
o7a
[ . 2 (3 1 (4 | a
.1 = Sin| arcCos| T | + arcSin| — .2 = Cos| arcCos| — | + arcSin| — ¢
3 7 2 9
3 2 h
No4 = 3= Sin[Z arcSin(—D 4= 005(2 arcSin[—D , .| @
5 3 M
b4 (9= (5= ) 10m
5= arcTan(Cos(—J + Sm(—jj 6= Cot(arcCos(Sm(—D + arcSm(Cos{ Dj U
L 2 2 6 3 i T
./ a

No5 =Sin(2 arcCos(a)),

b}

No6 = Cos(2 arcSin(a.)),

b}
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TrigonometryExercise5 for No.9885

-
1 =arcCos(-1) .2=arcTan(0) 3= arcCos[— g]

2 3
Nol=| 4=arcSin(0) .5= arcCos(%] 6= arcTan[%}

1 2
7= arcSin(Ej 8= arcSin[— g} .9 = arcSin(-5)

_ = Sin[arcSin(— ﬁn 2= Cos(arcsmtﬁ]

2
4= Tan(arcCos[
No2 =

= arcSm( Sln(

T
) osmedel)) emslefZ)) |
D e D) el

L TLeseri=

e

~NQEX®>~=8 &

ﬁ o 17 . (A2
.10 = Csc| arcCos| — 7 .11 = Cscl| arcCos| Sin| — p .12 = ArcSin| Cos| ArcSin| — T
C ]
e 5 , a
.1 =Tan| arcSin| — T .2 =Tan| arcCos| ; .3 =Sin arcTan ¢
5 3 h
No3=| 4= Sec[arcSin[—D 5= Cos(arcTan(—D 6= Cos[arcSm[ D , .| @
8 2
M
3 -2 U
.7 =Csc| arcTan| ~ .8 = Sin| arcCos| — .9 = Cot| arcCos| —
| 2 3 3 i T
(. / -
]
i ) 1 (-1 1 (2 a
.1 =Sin| arcCos| ~ |+ arcSin| .2 =Cos| arcCos| ~ | + arcSin| = ¢
3 2 3 7
4 3 h
No4 = 3= Sin[Z arcSin[—D 4= 005[2 arcCos[—D , .| @
9 4
M
3n (= . 7n . 4n
S= arcTan[Cos(—J + SlnE—D 6= Sec[arcCos(Sm[— —D + arcSm(Cos(—jD U
L 2 2 6 3 i T
L/ ]
M
No5 =Sin(2 arcSin(a)), ,| U
T
M
No6 = Cos(2 arcCos(a)), ,| U
T
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TrigonometryExercise5 for No.9895

C ]
3 (-1 A a
.1 =arcCos T .2 = arcSin ; .3 =arcSin(1) ¢
h
3 3
Nol=| 4=arcTan(0) .5= arcTan[— [j 6= arcCos(— £J , .| @
3 2 M
. 1 U
.7 =arcSin(-7) = arcSin| 5 .9 =arcCos(0) T
L J M
_ 3 ﬁ _
.1 =Tan(arcTan(-1)) .2 =Cos| arcSin| —— .3 =Tan| arcCos| T

2

4/? 27

.4 =Sin| arcTan| — T =arcCos| Cos T
NOZ = g s

. (T= 4n 3n
7= arcSln[Sln(?D = arcCos[Cos(T 9= arcTan(Tan[ p jj

/3 | x 2
.10 = Csc| arcCos —T .11 = Tan| arcSin| C Z .12 = ArcSin| Cos| ArcSin| 7

))
n Csc[arcc()s( % D 2= Tan[arcsin(gn 3= Sin(arccos[-;jj] ]
No3=| 4= Sec[arcTan(TQJ] 5= Tan(arcCos(gjj 6= Cos(arcSiI{%D
. G N R G

|
) el )
|

~NQX®=~= X

[ M|
a
t
h
@
M
U
T
!

M
[ . 4 (-3 1 (5 a
.1 =Sin| arcCos| ~ |+ arcSin| — .2 =Cos| arcCos| ~ | + arcSin| = ¢
5 7 5 7
2 1 h
No4 = 3= Sin[Z arcSin[—D 4= 005(2 arcCos(—D , .| @
3 2
M
S5n [ T= ) Tr ) 27
.5 =arcTan| Cos| — |+ Sin| —— .6 = Sec| arcCos| Sin| ——— | | + arcSin| Cos| — —— U
L 2 2 6 3 i T
(S ~/ -
M
No5 =Sin(2 arcSin(a)), ,| U
T
M
No6 = Cos(2 arcCos(a)), ,| U
T

X [Page = 0006] XXXXXXXXXXXXXXXKXXKXXKXXKXXKXXKXKKXXKXXKXKKXXKXXKXXKX KKK KK KKK KKK KK XKX KKK KK KKK KK KKK KKK KK KKXKKKXK




):9:9:0:9:9:0.9:9.9.9:9.9.:0:9.9.9.9.9:0:9.9:9.9.0.:9.9:0.0.0:9:9,9.0.0:0.0.9:9.0.0:0.9.9.0.0:0.9.9.9.0.0:0.9,9.0.0.:0.9.9.0.0.0:0.9.9.0.0.0.9.9.0.0.0.:9.9.0.0.0.:0.9.9.0.0.0.:0.9:0.0.0:0.9.9.0.0:0.0.9.9.0.0:0.9.0.0.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXKXKXXKXKXXKXKXXKXKXXKXKXXXKKKKK XK KK KL KK KK KK KKK KKK KKKKKKKKMSE /1-6700305-00007XX
TrigonometryExercise5 for No.9898

]
2 1 3 a
A= arcCos[— £] 2= arcSin[—j 3= arcTan[— Lj ¢
2 2 3 5
3
Nol=| 4= arcCos(«/E) = arcTan(«/;) 6= arcCos(%J . .| @
M
. (-1 U
.7 =arcCos(0) .§=arcSin(1) .9 = arcSin ; T
L/
[ | 2 (A3 ]
.1 =Tan(arcTan(-1)) .2 = Sin| arcCos| —/— .3 = Tan| arcSin| T

-
)

2

4= Cos(arcSm[ ] S= arcTan(Ta (l j 6= arcCosLSin(— Ej
No2 =

7= arcSin(Sin(%D 8= arcCos(Cos[ —J

9= arcTan(Tan[—

L
~NSE®=~s8 K

7)) ;
_.10:Sec(arccos(—§]j Al= Tan(arcCos(Sl (%D] .12:ArcCos(sm(ArccOs(éD]: ]
B I e e e T
et el oslafE])
7= Sln[arCCOS(6]J .8=Cos(arcSin[72D .9:Sec(arcC0s[—Tst_ l;

[ 2 1 3 -1
= Sin(arcCos[—J + arcSin[—D 2= Cos(arcCos[—j + arcSin[—D
5 3 7 5
. (2 (1
No4 = 3= Sln[Z arcSm(gD 4= cos[Z arcSm(gD
T ) 5n ) K ) 10m
.5 =arcTan| Cos 7 + Sin| — T .6 = Csc| arcCos| Sin| — ? + arcSin| Cos| 3

~~NCE®s~=s X

No5 =Sin(2 arcCos(a)),

b}

No6 = Cos(2 arcCos(a.)),

b

No T NCKXR
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TrigonometryExercise5 for No.9899

No2 =

No4 =

[Page =

0008]

1=
7= arcSin(Sin(— p jj

2
0= Csc[arcCos( [ D Al = Cot(arcCos( Sin|

No3 =

1= arcTan(«/; )

Nol =

)
vl

2

2
7= Tan[arcSm(

1 3
= Sin(arcCos(—j + arcSinE—D
2 8
2
3= Sin(2 arcSin(gD

In (Tn ) b
.5 =arcTan| Cos T + Sin| T .6 = Sec| arcCos| Sin p

No5 = Sin(2 arcCos(a.)),

No6 = Cos(2 arcSin(a)),
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2= Cos[arcSin[—
JS= arcTan(Tan(

8= arcCos(Cos(

1 7

A= Cos(arcSin[gD 2= Sin(arcTan( e
3 5
4= Cot(arcSm[ZD S= Tan(arcCos[;j
5

D 8= Cos{arcTa (;]

3 _
2 =arcSin(-3) 3= arcSin(— g}

3 1
4 =arcCos(1) S= arcTan[— Lj 6= arcCos(Ej

2
7= arcCos[— g] 8= arcSin[
A= Sin[arcSin[

w

.9 =arcSin(0)

>[5

o0
(U8)
|7~‘ -'>-|?-"\’t\)
Dla — —
Nee— N

-

5
4= cos[2 arcCos[ng

13

>

b}

NQX ~NCX

3= Tan[arcCos[—

6= arcSin(Co (

9= arcTan(Tan(

) el )

J .3=Csc arcCos(

s 12
o)

5 -1
2= Cos(arcCos(;] + arcSin(;D

7

J)-mslend -21))

,

m s

~NQRK® =~ -

5

)
)

chlr-l

~~NCX®s-~28 K

I

~ N CE®F~5 K

N SE®=-~-s K
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TrigonometryExercise5 for No.9920

1
A= arcSin(Ej .2 =arcTan(0)

Nol =

3 -1
4=arcCos(-1) .5= arcTan[%) 6= arcSin(—]

2
7= arcCos(«/g) .8 =arcCos 7 .9 =arcCos| — 5

.3 =arcSin(1)

2

3

~NCQEX®>~=8 X

-1 3 i M
A= Sin[arcSin(;]J .2 =Sin( arcTan(«/? ) 3= Tan(arcSin(%D a
3 !
. T (m
4= Cos(arcSm(— T]J S= arcCos(Cos(zj 6= arcCos( Sm(?D h
No2 = > 5 @
. (13= 4n T
.7 = arcSin| Sin .8 =arcCos| Cos| — .9 =arcTan| Tan| — M
6 3 6 U
1 ) 27 . «/; T
.10 = Csc| arcCos 5 .11 = Cot| arcSin| Cos —T .12 = ArcCos| Sin| ArcCos, —T ,
F ]
(1 4 I3 a
.1 = Cos| arcSin Z .2 = Sec| arcCos g .3 =Cos| arcTan| T ¢
h
-3 3 3
No3=| 4= Tan(arcCos[—D S= Csc[arcSin[Ln 6= Sin(arcCos[LD , .| @
4 4 7 M
4 . (-1 U
.7 =Cot]| arcTan| g .8 =Sin(arcTan(-1)) .9 = Tan| arcSin| ; r
L ] M
F ]
[ . 4 (1 2 (-3 a
.1 =Sin| arcCos| ~ |+ arcSin| ~ .2 =Cos| arcCos| 7 | + arcSin| — ¢
5 3 3 5
1 2 h
No4 = 3= Sin[2 arcSin[—D 4= cos[Z arcCos[—D , .| @
3 3 M
. ) 17n . K
.3 =arcTan(Cos(2 n) + Sin(w)) .6 = Csc| arcCos| Sin| — T + arcSin| Cos| T U
L - T
(S ~/ -
M
No5 =Sin(2 arcSin(a)), ,| U
T
M
No6 = Cos(2 arcSin(a)), ,| U
T
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TrigonometryExercise5 for No.10000

Cur]
_ p _ ;
.I=arcTan(0) .2 =arcSin ; 3= arcTan(—v\/?) ¢
(1 )2 h
Nol =|.4=arcSin| = | .5=arcCos| —— .6=arcCos(5) | .| @
2 2
M
A /3 U
.7=arcCos(0) .8=arcSin(-1) .9 =arcCos| — T r
L i M
o (A2 (4 ‘ /3 ][]
.1 = Sin| arcSin T .2 = Tan| arcSin| ; .3 = Sin| arcCos| 7 a
(1 . ) b4 (m !
.4 = Cos| arcSin| ~ .5 =arcSin| Sin| — — .6 = arcCos| Sin| — h
No2 — 2 4 4 @
B ( (13=n 57 Tn S
.7 = arcSin| Sin| .8 =arcCos| Cos| ——— .9=arcTan| Tan| —— M
6 6 6 U
«/? (5= . . «/; T
.10 = Sec| arcTan| —T .11 = Cot| arcCos| Sin| ? .12 = ArcSin| Cos| ArcSin —7 ,
]
[ (1 ) 5)) ] a
A= Sec[arcSm[gD .2 =Cos(arcTan(-6)) 3= Sln[arcCos(; ] p
h
2 3 5
No3=| 4= Sin[arcTan[gD 5= Tan(arcCos[gn 6= Csc(arcTan(%D , .| @
1 3 A5 "
T = Cot(arcCos[-—D 8= Tan[arcSin(-—D 9= Cos[arcSin[—D u
L 6 4 8 /)] T
L/
"]
[ , 1 (-5 4 (3 ] a
.1 = Sin| arcCos| ~ | + arcSin| — .2 =Cos| arcCos| ~ | + arcSin| = ¢
2 8 5 7
3 5 h
No4 = .3 = Sin| 2 arcSin| — .4 =cos| 2 arcSin| — , | @
8 9
M
[ 17= . 177 . T
.5 =arcTan| Cos(9 ©) + Sin 5 .6 = Cot| arcCos| Sin| — p + arcSin| Cos| — ; U
L . T
L/
M
No5 =Sin(2 arcCos(a)), ,| U
T
M
No6 =Cos(2 arcSin(a)), ,| U
T
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TrigonometryExercise5 for No.10017

X

"]
3 a
.1 =arcTan(1) .2 =arcCos(-1) 3= arcCos(—] !
2 h
Nol =| .4=arcCos(7) .5 =arcSin(1) 6= arcTan(—v\/;) , | @
(42 (A3 1 M
.7=arcSin| —— | .8=arcSin| - —_— .9 =arcCos| U
2 2 2
T
L/ ]
I 2 3 1 [M]
.1 = Tan( arcTan(«/; )) 2= Cos(arcSin[ng 3= Sin[arcTan[— gD a
1 t
. (m . T
4= Tan(arcCos(—D S= arcSln( Sln(— j 6= arcCos(Sm[— — J h
No2 = 2 6 6 @
- 1371 10t 171 > 5
7= arcSin[Sin( D 8= arcCos(Cos( j 9= arcTan(Tan(— D M
6 3 6 U
. ﬁ (1lm . «/5 T
.10 = Sec| arcSin| T .11 =Tan| arcCos| Sin| p .12 = ArcCos| Sin| ArcCos| —T ,
"]
. 5 -5 ﬁ a
.1 = Sin| arcCos g .2 =Tan| arcCos g .3 = Sec| arcCos —T ¢
-5 5 2 h
No3=| 4= Tan(arcSin[—D 5= Csc(arcSin[—Jj 6= Sin(arcTan(—D , | @
6 8 5 M
-1 2 5
7= Cot[arcTan(—D 8= Cos[arcSin[£ ] 9= Cos[arcTan(LD u
L 3 7 3 ] T
L/
Far]
| . ! (1 3 (-1 a
.1 = Sin| arcCos| ~ |+ arcSin| = .2 =Cos| arcCos| ~ | + arcSin| — ¢
2 2 8 3
2 1 h
Nod4 = .3 =Sin| 2 arcSin| ~ .4 =cos| 2 arcCos| — , .| @
3 2
M
. . Sn ) 137
.S =arcTan(Cos(n) + Sin(5w)) .6= Csc(arcCos[Sm(— ?D + arcSln[Cos[ 3 D] U
- - T
L ! -
M
No5 = Sin(2 arcCos(a.)), U
T
M
No6 = Cos(2 arcCos(a)), U
T
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TrigonometryExercise5 for No.10025

]
a
2 3 1
A= arcCos[£] 2= arcTan[— £J 3= arcSin(—j !
2 3 2 h
Nol = 2 3 5 @
4= arcCos[— g} S= arcSin(— g] 6= arcTan(«/g) M
.7 =arcCos(-2) .8 =arcSin(0) .9 =arcCos(-1) [7{
L/ ]
ol ol ) s} |
.1 =Tan| arcTan| —— .2 =Tan| arcCos .3 =Cos| arcSin| ~
3 2 2 a
. |3 (. (n , . t
.4 = Sin| arcCos| _T .5 = arcSin| Sin| ; .6 = arcSin| Cos| ; h
N02 = > s @
11= S5n 11=
7= arcSin[Sin( D 8= arcCos(Cos( —D 9= arcTan(Tan( D M
6 6 6 U
3 _ 13 -1 T
.10 = Csc| arcTan| — T .11 = Cot| arcSin| Cos .12 = ArcCos| Sin| ArcCos ; ,
C ]
| . 7 (1 a7 a
A= Sln[arcTan(gD 2= Cos(arcSl (ED 3= Tan[arcCos(gD p
| s 3 (45 "
No3 =|.4=Sin| arcCos| —— .5 =Cot| arcCos| — .6=Csc| arcSin| — | ||, .|l @
6 4 6 M
f3 (-4 U
.7 =Sec| arcTan| T .8 =Cos(arcTan(-7)) .9 =Tan| arcSin| ; r
L i M
C ]
[ . 1 (3 3 (-5 a
.1 =Sin| arcCos| ~ |+ arcSin| — .2 =Cos| arcCos| ~ | + arcSin| — ¢
5 4 5 9
2 3 h
No4 = 3= Sin[2 arcCos[—D 4= 005(2 arcCos(—D , .| @
7 5 M
on ) e ) 17n . b
.S =arcTan| Cos| — |+ Sin| — —— .6 = Csc| arcCos| Sin| — + arcSin| Cos| — — U
L 2 2 6 3 i T
./ a

No5 =Sin(2 arcCos(a)),

bl

No6 = Cos(2 arcSin(a.)),

b}
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TrigonometryExercise5 for No.10057

.1 =arcSin(1)
Nol =|.4=arcCos(3)

.7 =arcTan(0)

1
2= arcCos(—j
2

5 =arcCos(-1)

2]

8= arcSin(
2

J2
3 =arcSin| ————
2

9= arcCos[—

6= arcTan(—«\/;) ,
2
2

o= N|§|;\HQ§®@~Q E:

I . (-1 3 , 1 M
.1 = Sin| arcSin| ; .2 =Cos| arcTan| —— 3 .3 = Tan| arcSin| a
o t
.4 =Sin(arcTan(-1)) .5 = arcSin Slnl— ZD 6= arcSin[Cos( jj h
No2 = o (17n 8 1 171 | @
.7 = arcSin| Sin .8 =arcCos| Cos| — .9 =arcTan| Tan| — p M
U
1 . Sm . 4/; T
.10 = Sec| arcCos| 5 .11 = Tan| arcCos| Sin| — .12 = ArcCos| Sin| ArcCos| T ,
F ]
. «/7 5 2 a
.1 =Tan| arcSin —K .2 = Sec| arcCos ; .3 =Csc| arcTan ? ¢
h
4 -4 2
No3=| 4= Cot(arcSin[—jJ 5= Cos[arcSm(—jj 6= Tan(arcCos(— £D , .| @
9 5 3 M
. Nﬁ; 7 ) -1 U
.7 =Sin| arcTan| ——— .8 = Cos| arcTan| — .9 =Sin| arcCos| —
L 2 6 6 T
L/
]
i _ 1 (1 5 (-5 | a
.1 = Sin| arcCos| ~ |+ arcSin| = .2 =Cos| arcCos| — |+ arcSin| — ¢
2 2 9 9
3 1 h
No4 = .3 =Sin| 2 arcCos| — .4 =cos| 2 arcSin| = , | @
4 3
M
Tn (m . Tmn . n
5= arcTan(Cos[—J + Sln[—D 6= Cot(arcCos( Sln(— _D + arcSln(Cos(— —DJ U
L 2 2 6 6 J T
L/
M
No5 =Sin(2 arcCos(a)), ,| U
T
M
No6 =Cos(2 arcSin(a)), ,| U
T
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TrigonometryExercise5 for No.10061

3 1
A= arcSin[%J .2=arcCos(1) 3= arcCos(EJ
-1
Nol=| .4=arcSin(-1) S= arcCos(;] 6= arcSin(~\/;)

oo )] s rufus %j s

.4 =Cos(arcTan(-1)) = arcSm(Sl E 6= arcCos( Sin(
. (Tn
7= arcSln(Sm[?D = arcCos(Cos( j 9= arcTan(Tan(
3 Tn . 3
.10 = Csc| arcTan T .11 = Cot| arcSin| Cos .12 = ArcCos| Sin| ArcCos| —T

_ u ﬁ | | _
.1 = Tan| arcCos ? .2 = Cos| arcSin| — ? .3 = Sin| arcTan| Z

No3=| 4= Sin(arcCos[@D 5= Csc[arcTan[— %)J 6= Sec[arcSin(%D s
7= Cot[arcCos(éD .8 =Cos(arcTan(-5)) 9= Tan[arcSin(%D

\ﬂQi@wN&i:

T
=
N
N—

1

1

1

oy
N~
Ne—

-~ N QX >~ %

\_/

No2 =

~la
~———

\1-|>|:1

N—
L

w

~NQRO®==~-8 K

[ 3 -1 3 5
= Sin(arcCosE—j + arcSinL—D 2= Cos[arcCos(—j + arcSin(—D
8 3 4 7
1 1
No4 = 3= Sin(Z arcSin(ED 4= COS[Z arcSin(ED
. 197 (5= . 4n
S= arcTan(Cos(9 T)+ Sm(— TD 6= Csc[arcCos(Sm[TD + arcSln(Cos[TDJ

~NCSR®= -8 X

No5 = Sin(2 arcSin(a.)),

>

No6 = Cos(2 arcSin(a)),

b

NQENOE
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TrigonometryExercise5 for No.10071

C ]
-1 3 a
A= arcCos(;] 2= arcSin[— g] .3 =arcCos(0) ¢
h
3 3
Nol =| 4= arcTan(Lj .5 =arcSin(-1) 6= arcSin[Lj , .| @
3 2 M
J2
7= arcSin(—«/E ) .§=arcTan(0) 9= arcCos[T] IZJ"
L i M
I V2 I 1 [M]
.1 = cos| arcCos 7 .2 = Tan| arcCos 5 .3 =Cos( arcTan(—«\/;)) a
b T !
.4 = Sin( arcTan(«/? )) S= arcTan(Tan(ZD 6= arcCos(Sin[;D h
No2 = 131 n 1371 | @
.7 = arcSin| Sin .8 = arcCos| Cos| —— .9 = arcTan| Tan| — M
6 4 6 U
([ 17m . . 4/5 T
.10 =Sec(arcTan(-1)) .11 = Csc| arcCos| Sin p .12 = ArcSin| Cos| ArcSin| T ,
F ]
. 3 2 (-1 a
.1 = Sin| arcCos —T .2 =Tan| arcCos| g .3 =Tan| arcSin| E ¢
4 7 3 h
No3=| 4= Cos(arcSin[—jj 5= Cos[arcTan[—jj 6= Sec(arcCos(—D , | @
7 6 5
2 4 YA
.7 = Cot| arcSin| —— .8 =Csc| arcTan| — .9 = Sin| arcTan| —/——
L 3 5 3 /] T
L /]
C ]
i _ 5 (-1 2 (1 a
.1 = Sin| arcCos| ~ |+ arcSin| — .2 =Cos| arcCos| ~ | + arcSin| — ¢
7 4 3 2
1 4 h
No4 = .3 =Sin| 2 arcCos| = .4 =cos| 2 arcCos| = , .| @
3 5
M
. 9r . 1= . 10
.5 =arcTan| Cos(9 ) + Sin| — 2 .6 = Sec| arcCos| Sin| — p + arcSin| Cos 3 U
L - T
L -/ .
M
No5 =Sin(2 arcCos(a)), ,| U
T
M
No6 =Cos(2 arcSin(a)), ,| U
T
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TrigonometryExercise5 for No.10088
43
.3 =arcCos| =
2

1 3
A= arcSin(Ej 2= arcTan[gj

4= arcSin[—

-\ﬂQ§®§-Q§I

Nol =

2
—J .5 =arcSin(-1) .6=arcTan(0) | -

X

2
-1
.7 =arcCos(1) 8= arcCos(zJ 9= arcCos(«/E)
I 2 3 2 1 [M]
A= Sin[arcSin[— gD 2= Cos[arcTan[— g]j 3= Tan[arcCos[g j a
) -1 I . b !
.4 =Sin| arcCos| — .5 =arcTan| Tan| — .6 = arcCos| Sin| — — h
No2 = 2 4 6 @
B o (7= 5n 57 S
.7 =arcSin| Sin| —— .8 =arcCos| Cos| ——— .9 =arcTan| Tan| — M
6 6 6 U
) 107 . W/; T
.10 = Cot( arcTan(«/?)) .11 = Tan| arcSin| Cos 3 .12 = ArcCos| Sin| ArcCos| —7 ,
]
I (-1 -1 -5 1 a
.1 = Cos| arcSin| ; .2 = Cos| arcTan ? .3 = Tan| arcCos 7 P
(5 . «/7 _ 5 h
No3 =| .4 =Tan| arcSin| ; .5 = Cot| arcSin| —T .6 = Sin| arcTan Z , | @
M
4 6 5
7= Sin[arcCos[—D 8= Csc[arcTan(— £ ] 9= Sec[arcCos[— £D u
L 7 7 7 )/] T
L/ ]
C ]
[ , 4 (4 4 (3 ] a
.1 = Sin| arcCos| ~ |+ arcSin| — .2 =Cos| arcCos| ~ | + arcSin| = ¢
7 7 5 5
1 1 h
No4 = .3 =Sin| 2 arcSin| ~ .4 =cos| 2 arcSin| ~ , .| @
3 2
M
. LU (7= ) 27
.5 =arcTan| Cos(4 1) + Sin| — ; .6 = Cot| arcCos| Sin| p + arcSin| Cos —T U
L g T
L / .
M
No5 = Sin(2 arcSin(a)), ,| U
T
M
No6 = Cos(2 arcCos(a)), ,| U
T
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TrigonometryExercise5 for No.10385

"]
3 a
1 =arcCos(-7) .2=arcCos(0) .3 =arcTan| T ¢
h
1 2
Nol=| 4= arcSinL—] 5= arcCos[— LJ 6= arcTan(ﬂ/;) , .| @
2 2 [ M
-1 3
7= arcSin[—j .8 =arcSin(1) 9= arcCos[—j v
L 2 2 )] T
L/ ]
[ 2 3 1 [M]
A= Sin[arcSin[— TD 2= Tan[arcSm(%D 3= Sin(arcTan(— gD a
-1 7 t
.4 = Cos| arcSin| ; .5 =arcTan| Tan| — .6 = arcSin| Cos| — h
No2 = > s @
b b b
= arcSm(Sm( jJ 8= arcCos(Cos( —jj 9= arcTan(Tan( p jJ M
U
| ﬁ 2 r
.10 = Csc| arcSin| T Al = Cot arcCos| Sin .12 = ArcCos| Sin| ArcCos T )
]
3 V3 a
.1 =Cos| arcTan| —T .2 =Csc| arcCos 9 .3 =Tan| arcCos| T ¢
h
1 7 3
No3 = 4= Sin[arcCos(—D S= Cot(arcTan(—D 6= Tan[arcSin(LD , | @
2 4 8 M
(3 -2 . U
.7 = Cos| arcSin| g .8 = Sec| arcSin| 7 .9 = Sin(arcTan(-2)) T
] M
C ]
i _ 5 (1 1 (-1 i a
.1 = Sin| arcCos| ~ |+ arcSin| = .2 =Cos| arcCos| = | + arcSin| — ¢
6 2 3 2
5 1 h
No4 = .3 =Sin| 2 arcSin| — .4 =cos| 2 arcSin| ~ , | @
6 3
M
) 137 ) Sn . b
= arcTan(Cos( 6m)+ Sln[— 2 D 6= Cot[arcCos( Sln[— TD + arcSm(Cos(— ;D] U
L - T
L / .
M
No5 = Sin(2 arcCos(a)), ,| U
T
M
No6 = Cos(2 arcCos(a)), ,| U
T
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TrigonometryExercise5 for No.10387

C ]
3 3 a
I =arcTan(-1) .2= arcSin[%] 3= arcCos[— g] ¢
h
-1 3
Nol=| 4=arcSin(-1) .5= arcSin[—j 6= arcTan(LJ ., .| @
2 3 M
1 U
.7 = arcCos| 5 .8 =arcCos(-2) .9 =arcCos(0) r
L i M
[ )2 , | (M
.1 =cos| arcCos| —— .2 =Cos| arcTan| — .3 = Sin| arcCos| =
2 3 2 a
. ﬁ T . 27 !
.4 = Tan| arcSin| T .5 =arcTan| Tan| Z .6 = arcSin| Cos| ——— 3 h
NOZ = > B @
Tn T S5n
7= arcSin(Sin(—jJ 8= arcCos(Cos( —jJ 9= arcTan(Tan( D M
6 6 6 U
. In . A T
.10 =Cot(arcTan(1)) .1/ = Sec| arcSin| Cos| 3 .12 = ArcSin| Cos| ArcSin| — 7 ,
F ]
J6 7 a
.1 = Cot| arcTan T .2 =Sin| arcTan g .3=Cos arcTan 5 t
h
(A3 1 (2
No3 =| 4 =Sec| arcSin| ——— .5 =Tan| arcSin| — .6 = Cos| arcSin| — , L@
7 6 7 M
1 ) -4 2 U
.7 =Csc| arcCos| — .8 = Sin| arcCos| — .9 =Tan| arcCos| ——
4 5 i T
L/ ]
"]
[ . 1 (2 2 (-2 a
.1 = Sin| arcCos| ~ |+ arcSin| = .2 =Cos| arcCos| ~ | + arcSin| — ¢
2 7 7 5
1 1 h
No4 = 3= Sin(2 arcCos(—D 4= cos[Z arcSin(—D , .| @
6 3 M
S5n (3= ) 17n ) 13n
S= arcTan[Cos(—J + SlnL—D 6= Cot(arcCos[Sm(— —D + arcSm(Cos( Dj U
L 2 2 6 3 i T
L/ ]
M
No5 =Sin(2 arcSin(a)), ,| U
T
M
No6 = Cos(2 arcCos(a)), ,| U
T
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TrigonometryExercise5 for No.10914

C ]
2 a
1 =arcCos(-1) = arcSin| — T .3 =arcSin(1) ¢
I3 1 h
Nol =| 4 =arcCos(-7) = arcCos[ Tj 6= arcSin(Ej , .| @
/5 /5 v
.7=arcCos| —— | .8§=arcTan|——— | .9=arcTan(1)
L 2 3 ] T
L -/ -
i . 'E) (A3
.1 =Tan(arcTan(-1)) .2 = Sin| arcCos T .3 = Tan| arcSin —T
o T T
.4 = Cos( arcTan(«/;)) 5= arcSm(Sm(— —D 6= arcCos(Sm( I j
No2 = (. (7= 1171
.7 = arcSin| Sin| ? =arcCos| Cos| —/— .9 =arcTan| Tan| — T
A | 2
.10=Sec(arcTan(1)) ./1=Tan| arcSin| Cos| — ? .12 = ArcCos| Sin| ArcCos| T
[ 1 5 (2]
.1 = Tan| arcCos| E .2 = Csc| arcCos| ; .3 = Cos| arcSin T
1 6 5
No3=| 4= Sin[arcTan[;D S= Cot(arcTan(— QD 6= Sin[arcCos(— g}j b,
2 (4 (2
.7 = Cos| arcTan| 7 .8 = Sec| arcSin| g .9 = Tan| arcSin ?
I 1 -5 4 5
A= Sin(arcCos(—j + arcSin(—D 2= Cos(arcCos(—] + arcSinE—D
2 7 7 7
2 3
No4 = 3= Sin[Z arcCos[Ejj 4= COS[z arcCos[;jj
. . 137 . 137
.5 =arcTan(Cos(2 n) + Sin(—w)) .6 = Cot| arcCos| Sin| — + arcSin| Cos 3
M
No5 =Sin(2 arcCos(a)), ,| U
T
M
No6 = Cos(2 arcCos(a)), ,| U
T
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TrigonometryExercise5 for No.10945

X

Far]
3 a
.I=arcTan(0) .2=arcTan| T =arcCos(1) ¢
h
1 2
Nol=| 4= arcSin(—j 5= arcCos[Lj .6=arcSin(0) |, | @
2 3_ M
-1 2
7= arcSin[—] 8= arcCos[— —J = arcCos( - 5) v
L 2 2 T
(. -/ -
_ ﬁ _ ]
.1 = cos| arcCos T .2 = Sin( arcTan(«/;)) .3 =Cos( arcTan(ﬂ/;)) a
) «/; . 2n !
.4 = Tan| arcSin| T .5 =arcSin| Sin| — .6 = arcSin| Cos| T h
NOZ = > s @
17w S5n
.7 = arcSin| Sin| .8 =arcCos| Cos| —— .9 =arcTan| Tan| — —— M
6 6 U
«/E . 5w 3 T
.10 = Cot| arcCos| — 7 .11 = Sec| arcSin| Cos 7 .12 = ArcCos| Sin| ArcCos| — 7 ,
]
[ (-3 3 (5] a
= Csc(arcSln[ED 2= Cos[arcTa [2 D 3= Cos[arcSm(gD ‘
s ‘ 2 4 h
No3 =|.4=Tan| arcSin| —— .5 = Sin| arcCos| ~ .6=Sec| arcTan| Z |||, .| @
6 3 7
s B 4 o
.7 =Sin| arcTan| ——— .8 = Cot| arcCos| —— 9= Tan arcCos| —
L 6 5 9//] T
L/ ]
C ]
i ) 1 (3 1 (5 i a
.1 = Sin| arcCos| ~ |+ arcSin| — .2 =Cos| arcCos| ~ | + arcSin| — ¢
3 7 4 6
5 1 h
No4 = 3= Sin[2 arcSin[—D 4= COS[Z arcCos[—D , .| @
9 2
M
. 13n ) 1= ) 10x
.5 = arcTan| Cos(6 ) + Sin| — > .6 = Csc| arcCos| Sin _T + arcSin| Cos| 3 U
L - T
(. -/ -
M
No5 =Sin(2 arcCos(a)), ,| U
T
M
No6 = Cos(2 arcSin(a)), ,| U
T
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TrigonometryExercise5 for No.10954

3

= arcCos(—

Nol=| .4=arcTan(0)
1
7= arcCos(—j
2
.1 =Tan( arcTan(«/;)) 2=

e sefueral )

5 —
No2 =
(sl 7))
.7 = arcSin| Sin|
6
.10 =Sec(arcTan(-1)) .1l= Cot[arcSin(Cos( 3
[ (42
1 = Cos| arcSin| —/—
7
3
No3 =| .4 =Tan| arcCos| T
7
7 = Sin| arcTan| — T
[ 1 2
A= Sin[arcCos(—j + arcSin(—D
2 3
2
No4 = 3= Sin[Z arcCos[;jj
(21¢
S= arcTan(Cos(7 )+ Sm[ D
Nojs =
No6 =
[Page = 0021]

e co )

)

D 6= arcCOs[Sin[%D
9= arcTan[Tan(_ %D

D] 2= ArcSin(COS(ArCSiHL%D

1
2= Cos(arcTan(ED 3= Tan(arcSin[
. 3
.5 = Sin| arcCos| Z .6 =Csc arcSln

arcSln[ Sln[

K
4
Y

~ |
~—
—

VR
\J|uu

Ne—
N

-2
.8:Cot(arcTan(?D 9= Sec[arcCo

1 -5
2= Cos{arcCos(—j + arcSin(—D
2 7
2
4= COS[Z arcSin(—D
7
. 3= .
.6 = Cot| arcCos| Sin| — p + arcSin| Cos

M
| U
T
M
| U
T

/q\
\]lN

Ne—
I;/

Sin(2 arcSin(a)),

Cos(2 arcCos(a)),

Ne——

)]

Cur]
a
(A2 :
.2 =arcSin| ———— .3 =arcCos(0)
2 2 h
5= arcTan(—«\/g) .6=arcSin(-1) |, .| @
3 M
8= arcCos(«/?) 9= arcSin[gj U
T
(. -/ -
1 2 |
Cos(arcSm[Ej 3= Tan[arcSin(— gD

~NCE®=~a %

~NQX® >~ X

-NSE®s~s ¥
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TrigonometryExercise5 for No.10966

X

C ]
1 3 a
A= arcCos[EJ 2= arcSin[gj 3 =arcCos(3) ¢
3 -1 h
Nol =| 4= arcTan[— —] S =arcSin(1) 6= arcCos(—J | @
3 2 M
(42 U
.7 =arcTan(0) .8=arcCos(-1) .9=arcSin| — 7 T
L i M
_ 3 5 - "]
A= Tan[arcTan[— gn .2 =Cos( arcTan(«/_ 3)) 3= Sin(arcCos(%D a
3 37 I !
.4 =Tan| arcSin .5 =arcCos| Cos| — 6 = arcCos| Sin| ? h
N02 = > s @
. 1 7n
.7 = arcSin| Sin| — .8 =arcCos| Cos| — 9 =arcTan| Tan ? M
U
«/5 T 1 T
.10 = Sec| arcSin| 5 Al = Sec arcCos| Sin| ? .12 = ArcSin| Cos| ArcSin| E ,
]
3 . A5 (2 a
.1 = Csc| arcCos| g .2 = Sin| arcCos| —T .3 = Tan| arcSin| ; ¢
h
4 5 -5
No3 = 4= Sin(arcTa (—D 5= Cot[arcSin(LD 6= Cos[arcSin(—D ., .| @
3 8 8 M
2 1 6 U
.7 =Cos| arcTan| - —— .8 = Tan| arcCos| — .9 =Sec| arcTan| —
L 5 2 7))] T
(. ~/ -
C ]
[ , 3 (2 3 (2 ) a
.1 =Sin| arcCos| ~ |+ arcSin| ~ .2 =Cos| arcCos| ~ | + arcSin| ¢
7 3 8 3
2 1 h
No4 = 3= Sin[2 arcCos[—D 4= 005(2 arcSin[—D , .| @
5 5 M
b ) 5n (17= ) 27
.5 =arcTan| Cos| — |+ Sin| ——— .6 = Sec| arcCos| Sin + arcSin| Cos| ——— U
L 2 2 3 i T
(. ~/ -
M
No5 =Sin(2 arcSin(a)), ,| U
T
M
No6 = Cos(2 arcCos(a)), ,| U
T
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TrigonometryExercise5 for No.11154

M
/3 .
.1 =arcSin(-1) 2= arcCos[T] 3= arcCos(«ﬁ) 2
Nol=| 4= arcTan(—«\/g) .5=arcTan(1) .6=arcCos(0) |, .| @
(A2 3 (1 M
.7=arcSin| ——— | .8=arcCos| ——_— .9 =arcSin| ~ U
2 2 2
T
L -/ _

-y

3 _
A= cos[arcCos[%D .2 =Cos(arcTan(1)) 3= Sin[arcCos[— D
(-1 3w .
.4 = Tan| arcSin| ; .5 =arcCos| Cos T .6 = arcCos| Sin|
. T Sn
.7 = arcSin| Sin| — ? .8 = arcCos| Cos| — ? .9 =arcTan| Tan| —
i

2 13
0= Sec(arcSin[— g]] Al = Cot(arcCos(Sin( p jD 2= ArcCos( Sin(ArcCos -
[ 1 -1 3N
= Tan(arcCos[gD 2= Csc(arcCos[ZD 3= Cos[arcTan[ZD

(s (4 . /3
No3 =|.4 = Cot| arcSin| T .5 = Tan| arcSin| 7 .6 = Sin| arcCos| T

)
r-ssfun( 3] a-selml L] - cofseulZ])

No2 =

O\|U1.h |§
a —

~NQEX®>~=8 &%

N|§|
N——
N—
L

~NCX®>~=8 X

M
[ 1 -5 1 3 ] a
.1 = Sin| arcCos| ~ |+ arcSin| — .2 =Cos| arcCos| ~ | + arcSin| = ¢
2 9 2 7
1 1 h
No4 = .3 =Sin| 2 arcCos| — .4 =cos| 2 arcSin| — , L @
4 5
M
n (5= [ T= . n
5= arcTan[Cos[—j + Sm(—D 6= Csc[arcCos[Sm[—D + arcSln[Cos(—jD U
L 2 2 6 3 i T
L ! -
M
No5 = Sin(2 arcSin(a)), ,| U
T
M
No6 = Cos(2 arcCos(a)), ,| U
T

X [Page = 0023] XXXXXXXXXXXXXXXXXXXXXXKXXXXKXKXXKXKXKXKXKXKXKKKXKKXKXKXKXKXKXKKKXKKX KKK KK KK KXKXKKXKKXKK KKK KK KXKKKK




):9:9:0:9:9:0.9:9.9.9:9.9.:0:9.9.9.9.9:0:9.9:9.9.0.:9.9:0.0.0:9:9,9.0.0:0.0.9:9.0.0:0.9.9.0.0:0.9.9.9.0.0:0.9,9.0.0.:0.9.9.0.0.0:0.9.9.0.0.0.9.9.0.0.0.:9.9.0.0.0.:0.9.9.0.0.0.:0.9:0.0.0:0.9.9.0.0:0.0.9.9.0.0:0.9.0.0.4

X Math@MUT XXXXXXXXXXXXXXXXXXXKXXXXKXXKXKXXKXKXXKXKXXKXKXXKK XK KK XK KK KL KK KK KK KKK KKK KKKKKKKKMSE /1-6700305-00024%XX
TrigonometryExercise5 for No.11191

Far]
_ Y] ;
A= arcTan(«/;) .2=arcTan(-1) .3 =arcCos ; ¢
3 !
Nol =| .4 = arcCos| T 5= arcSin(—«\/E) .6=arcCos(l) |, .| @
M
) . «/E (1 U
.7=arcSin(-1) .8=arcSin| ——— .9 = arcSin| ©
| 2 2) ] T
!

o,

[ -1
.1 =Tan( arcTan(—«\/; ) 2= Tan(arcSin(;D 3= Cos(arcSin( D
. ﬁ b . 2n
.4 =Sin| arcCos| ———— .5 =arcCos| Cos| — .6 = arcSin| Cos| ——
2 4 3
No2 =
. 177 b Sn
.7 = arcSin| Sin| — T .8 = arcCos| Cos _E .9 =arcTan| Tan| — ?
(A2 ( 5n . _
.10 = Cot| arcSin| — T .11 = Cscl| arcCos| Sin —T .12 = ArcSin| Cos| ArcSin| —

.1 =Cos( arcTan(—«\/; )) 2= Sec(arcTan(%jJ 3= Sin[arcTan[%n
No3 = 4= Sin[arcCos(%D S= Csc(arcCos[%D 6= Cos[arcSin(gn ,
7= Tan(arcCos{— @D 8= Cot(arcSin(— g}] 9= Tan(arcSin[%jj

|N|§|
~NCRK®=-~=sK

~NQE®=~ 8 8 T

L
T
L

T
L

M
i ) 1 (1 1 (-1 a
.1 =Sin| arcCos| ~ |+ arcSin| — .2 =Cos| arcCos| ~ | + arcSin| — ¢
2 4 3 6
1 3 h
No4 = 3= Sin[2 arcSin[—D 4= 005[2 arcCos[—D , .| @
4 4
M
T . Tmn . 13n . b
.5 =arcTan| Cos| — |+ Sin| - —— .6 = Sec| arcCos| Sin| — + arcSin| Cos| — — u
L 2 2 6 3))/] T
(S ~/ -
M
No5 =Sin(2 arcSin(a)), ,| U
T
M
No6 = Cos(2 arcCos(a)), ,| U
T
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Cur]
1 3 a
= arcSin(Ej 2= arcTan(—«\/? ) 3= arcCos[gj ¢
3 !
Nol=| 4=arcCos(1) .5= arcCos[— —J 6=arcSin(0) | | @
2 M
-1
.7=arcTan(0) .8= arcSin(«/;) 9= arcSin[;j l]{
L ] M
[ 3 3 1 [M]
= cos(arcCos{%D 2= Sin(arcCos(— gn .3 =Cos( arcTan(ﬂ/;)) a
2 t
. (= (m
4= Tan(arcSm(— TD S= arcSln( Sln(—jj 6= arcCos(Sm(zD h
No2 = > 5 @
A 177
7 = arcSin| Sin| —/— .8 =arcCos| Cos| ——— .9 = arcTan| Tan M
6 4 6 U
3 13 . I T
.10 = Sec| arcTan| T .11 = Sec| arcCos| Sin p .12 = ArcCos| Sin| ArcCos| E ,
]
2 (5 41 )] a
.1 = Tan| arcCos 5 .2 = Cos| arcSin 5 .3 = Cos| arcTan| T ¢
h
-5 6
No3=| 4= Sec(arcSinL—j] .5=Sin(arcTan(1)) .6= Tan(arcSi (LD , | @
7 7 M
. -4 ﬁ U
.7 = Sin| arcCos 7 .8 =Cot(arcTan(-2)) .9= Csc| arcCos T T
L M
"]
[ . 1 (1 4 (-5 a
.1 =Sin| arcCos| ~ |+ arcSin| ~ .2 =Cos| arcCos| ~ | + arcSin| — ¢
2 3 5 9
1 4 h
No4 = 3= Sin[2 arcCos[—D 4= COS[Z arcSin[—D , .| @
6 7 M
. (1= . Sn
S=arcTan(Cos(4 n) + Sin(-3 w)) .6= Cot(arcCos{ Sm( D + arcSm(COS(TjD U
L - T
L/
M
No5 =Sin(2 arcSin(a)), ,| U
T
M
No6 = Cos(2 arcCos(a)), ,| U
T
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TrigonometryExercise5 for No.12483

3

]
I=arcSin(l) .2= arcCos[— TJ 3= arcSin[gj

2
Nol =| .4 = arcSin(-5) .5 =arcCos(0) 6= arcSin[— g] -

1 3
7= arcCos(EJ 8= arcTan[ {] =arcTan(0)

5 meze=-sx

3= Cos[arcSin[—

)

j 6= arcSln(Co ( -
| el

)

3
.1 =Tan(arcTan(-1)) 2= Tan[arcCos[g
r

a

()]
@|
——
\ ) S
—
I
1
|

.4 = Sin( arcTan(—«\/; )) S= arcTan(Tan( J
13=n 5
7= arcSin( Sin(— p Jj 8= arcCos(Cos(Tj
(1 ) T
0= Sec(arcSm(ED Al = Tan(arcSm[C os| — I]

[ 5
A= Sec[arcSin(%D 2= Csc(arcTa

-1
No3=| 4= Cot(arcCos[?D S= Tan(arcSl

.7 = Sin( arcTan(«/g )) 8= Tan[arcCo

No2 =

N—
Ne—

~NQEX®>~=8 &

2= ArcCos[Sin(ArcCo (

) mofwsif3))
) secwrd )|
) sl 32

.~|§|
N—

g N BN |
T
L

(@)}

/_\CIT\/_\
~— < .

W | —

~~NQX®=~8X

M
i ) 1 (-1 1 (1 a
.1 = Sin| arcCos| ~ | + arcSin| — .2 =Cos| arcCos| ~ | + arcSin| = ¢
3 2 2 3
1 2 h
No4 = .3 =Sin| 2 arcCos| = .4 =cos| 2 arcCos| = , .| @
5 5
M
. (17= ) 8
.5 =arcTan(Cos(5 n) + Sin(n)) .6 =Cot| arcCos| Sin p + arcSin| Cos| T U
L - T
L ! .
M
No5 =Sin(2 arcCos(a)), ,| U
T
M
No6 = Cos(2 arcCos(a)), ,| U
T
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]
a
.1 =arcTan(0) .2 =arcSin(-1) .3 =arcTan(-1) ¢
3 3
.4 =arcCos(0) 5= arcCos(— —J 6= arcCos(Lj h
Nol = 2 2 ), ,| @
2 2 M
7= arcSin[— g] 8= arcCos(ﬁ) 9= arcSin(gj U
T
L -/ .

sl -2 '( %) weoly)) ||
.1 =Sin| arcSin| ——— .2 = Sin| arcCos| .3 =Tan| arcCos| —
2 2 2 a
ﬁ T 2mn !
.4 =Cos| arcTan| — T = arcSin| Sin| Z .6 = arcSin| Cos T h
No2 = > 5 @
(137 T 17n
.7 =arcSin| Sin| —— =arcCos| Cos| —/ .9 =arcTan| Tan| M
6 6 U
Sn 2
.10 = Csc( arcTan(—«\/g)) Al = Cot[arcCos{Sin[ ?DJ 2= ArcCos[ Sin(ArcCos(%D] ]/w
"]
[ 1 3 2)) ] a
A= Csc(arcCos[gD 2= Sec[arcSin(ZD 3= Tan(arcSin[;D ¢
h
2 7 2
No3=| 4= Sin(arcCos(—D 5= Tan(arcCo [LD 6= Cos[arcSin[LD , | @
3 9 5 M
1 5
7= Cot(arcTan(;D 8= Sln(arcTa (?D .9 =Cos( arcTan(\/g ) U
L A T
L/
"]
[ , 2 (2 2 (3 a
.1 = Sin| arcCos g + arcSin| ; .2 =Cos| arcCos| g + arcSin g t
1 4 h
No4 = 3= Sin(2 arcSin(—D 4= 005(2 arcCos(—D , .| @
2 5
M
. . Tr ) i
.5 =arcTan(Cos(n) + Sin(-2w)) .6= Sec(arcCos{ Sm(— 7)] + arcSm(Cos(— EJD u
L - T
L/
M
No5 =Sin(2 arcSin(a)), ,| U
T
M
No6 = Cos(2 arcCos(a)), ,| U
T
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TrigonometryExercise5 for No.12637

Car]
3 3 )
1 3 3
A= arcCos(—j 2= arcTan[— —] 3= arcSin(— —J !
2 3 2 h
Nol = -1 (42 @
.4 = arcCos ; .5 = arcSin T .6 =arcCos(1) M
.7 =arcTan(0) .8 =arcSin(-1) .9 =arcSin(3) IZJ"
./ i

-1 . A3 1
.1 = cos| arcCos ; .2 = Sin| arcCos —T .3 =Cos(arcTan(-1))

1 T ) b4

.4 = Tan| arcCos| — .5 =arcTan| Tan| — — .6 = arcCos| Sin| ——

No2 = 2 3 6
- . 117 2n Sn
7= arcSln(Sln(— p D 8= arcCos(Cos(— TD 9= arcTan(Tan(— J

b

.10 =Sec(arcTan(1)) Al = Sec[arcSin(Cos{ 3 Dj 2= ArcCos( Sin(ArcCos -

A= Sin(arcTan(%D 2= Cos[arcSin(@D 3= Sec(arcSin(%jj _
el o)) arodene)}
= Taassinl2)) 5= oo wetan 2] o s amcod L2

~~NQSX®=-~-1sK

IN|§|
N—
N——
L

[\

~NSE@®=~= =

M
i ) 1 (2 1 (3 a
.1 = Sin| arcCos 5 + arcSin| 5 .2 =Cos| arcCos| g + arcSin| g ¢
2 3 h
No4 = .3 =Sin| 2 arcSin| = .4 =cos| 2 arcCos| = , .| @
3 7
M
. ([ 17= . 4n
.S =arcTan(Cos(3 n) + Sin(—4 ©)) .6 = Cot| arcCos| Sin p + arcSin| Cos T U
- - T
L ! .
M
No5 = Sin(2 arcCos(a)), ,| U
T
M
No6 = Cos(2 arcCos(a)), ,| U
T

X [Page = 0028] XXXXXXXXXXXXXXXXXXXXXXKXXXXKXKXXKXKXKXXKXKXKKKXKXKXKXKXKXKXKKKXKKXKXKKKXKKXKXKKKXKXKXKKKXKKXKXKKKK




):9:9:0:9:9:0.9:9.9.9:9.9.:0:9.9.9.9.9:0:9.9:9.9.0.:9.9:0.0.0:9:9,9.0.0:0.0.9:9.0.0:0.9.9.0.0:0.9.9.9.0.0:0.9,9.0.0.:0.9.9.0.0.0:0.9.9.0.0.0.9.9.0.0.0.:9.9.0.0.0.:0.9.9.0.0.0.:0.9:0.0.0:0.9.9.0.0:0.0.9.9.0.0:0.9.0.0.4

D QRVENAICIVISHNND 0:0:0:0:0:0:0.0:0:0.0.0:0:0.0.0:0:0.0.0:0:0.0.0:0:0.0.0:0:0.0.0:0:0.0.0:0:0.0.0:0:0.0.0:0:0.0.0:0:0.0.0:0:0.0.0:0:0.0.0:0:0.0.0:9:9.0.0:0:0.6.0:0: U YN EI W ITUS T Jolel23°):0:¢
TrigonometryExercise5 for No.12689

X

C ]
- 4 - 4
.1 = arcSin ; .2=arcSin(1) .3 =arcSin(3) ¢
(i3 2 ;
Nol=| .4=arcCos(0) S=arcSin| — | .6=arcCos|—— ||, .| @
2 2
LY | Y
7= arcTan(—«\/; ) .8=arcTan(1) 9= arcCos(TJ (7{
L/ ]
[ 1 A3 (A2 1 [m]
.1 = cos| arcCos ; .2 =Cos| arcTan| — 3 .3 = Tan| arcSin| T a
. «/; . . b 3n !
.4 = Sin| arcTan| —/— .5 = arcSin| Sin| - = arcSin| Cos| —— h
No2 = 3 3 4 > s @
. Sn Sn 137 M
.7 =arcSin| Sin| - —— .8 =arcCos| Cos| ——— .9 = arcTan| Tan|
6 6 6 U
. 10n : 1 T
.10 =Cot(arcTan(-1)) .11 =Csc| arcSin| Cos 3 .12 = ArcCos| Sin| ArcCos, E )
]
(2 (A2 a
.1 = Csc| arcSin| ? .2=Cos| arcTan| — .3 = Tan| arcSin T ¢
h
5 3
No3=| 4= Cot(arcTan(—D S= Sln[arcCos( D 6= Tan(arcCos[LD , | @
6 6 5 M
(2 . 4 U
.7 =Cos| arcSin g .8 = Sin( arcTan(—«/?)) .9 = Sec| arcCos ; T
L ] M
F ]
i ) 5 (3 5 (1 a
.1 = Sin| arcCos| — |+ arcSin| — .2 =Cos| arcCos| ~ | + arcSin| ~ ¢
8 8 6 2
1 3 h
No4 = .3 =Sin| 2 arcCos| — .4 =cos| 2 arcCos| = R @
4 7
M
) (5= . b
.S =arcTan(Cos(2 n) + Sin(-3 w)) .6= Csc[arcCos(Sm[TD + arcSln(Cos[— EJD U
L - T
L / .
M
No5 =Sin(2 arcCos(a)), ,| U
T
M
No6 =Cos(2 arcSin(a)), ,| U
T
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TrigonometryExercise5 for No.13349

Cur]
a
3 2 2
A= arcCos(LJ 2= arcSin(— LJ 3= arcSin(L] !
2 2 2 h
Nol=| 4= arcCos(—«\/?) .5 =arcSin(-1) .6=arcTan(1) || .|l @
3 M
7= arcCos(— g} 8= arcTan(—«\/g) .9 =arcCos(1) U
T
L/
(i ‘ 3 M
.1 = Sin| arcSin| 7 .2 =Cos(arcTan(-1)) .3 = Sin| arcTan| —/—

I

) ]
. a=tafwecof 1] s anccod cof 2 6= arcCoq i ljj

57 S
7= arcSin(Sin[?D 8= arcCos(Cos( jJ 9= arcTan(Tan( p J

2 . 2
.10 = Sec( arcTan(—«\/_)) Al = Csc(arcSm[Cos( TD] 2= ArcSm(Cos(ArcSl (—

2

=W

~NCX® >~ X

-6 ) VT 5

.1 =Csc| arcTan| — .2 = Cot| arcSin| — .3 =Cos| arcTan| —
7 10 6
-1 5 .

No3=|.4= Sec(arcCos(—D S= Cos(arcSl [; j .6 = Sin( arcTan(W)) ,

[N 1) RN E | RN o |

T N—
\ﬂqs®»~as;:ﬁ

M
[ 3 2 3 1 a
.1 = Sin| arcCos| ~ | + arcSin| — .2 =Cos| arcCos| ~ | + arcSin| = ¢
4 7 7 2
1 2 k
No4 = .3 =Sin| 2 arcSin| = .4 =cos| 2 arcCos| ~ , .| @
3 3
M
3n (5m (7= . 137
.5 =arcTan| Cos| —— |+ Sin| —— .6 = Sec| arcCos| Sin| — | | + arcSin| Cos U
L 2 2 6 3 i T
L / -
M
No5 =Sin(2 arcSin(a)), ,| U
T
M
No6 =Cos(2 arcSin(a)), ,| U
T
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TrigonometryExercise5 for No.13519

C ]
3 2 3 a
A= arcSin[— £] 2= arcCos(— £J 3= arcTan[— L] ¢
2 2 3
1 h
Nol =| .4=arcCos(0) .5 =arcSin(-1) 6= arcSin[EJ , .| @
M
. 3 U
.7=arcTan(1) .8 = arcSin(-5) .9 = arcCos T T
./ a

_ 3 _
A= cos(arcCos(— —2 D .2 =Cos(arcTan(-1)) .3 =Sin(arcTan(1))
«/E K . 27
.4 ="Tan| arcCos| — ——— .5 =arcTan| Tan| — .6 = arcSin| Cos| ———
2 3
N02 = > s
. 137 137
7= arcSln(Sln( p jJ 8= arcCos[Cos( j 9= arcTan(Tan(— D
1 . | 2
.10 = Csc| arcSin E .11 = Cscl| arcCos| Sin ? .12 = ArcSin| Cos| ArcSin| —

A= Csc(arcCos(ﬁD 2= Cos[arcSin(?D 3= Cos(arcTan(— @D
No3=| 4= Tan[arcCos( D 5= Sec[arcSin[%D 6= Sin(arcTan(?D
7= Sin[arcCos( D .8=Cot(arcTan(6)) .9= Tan[arcSin(— @D

Ne——

~~NQSX®=-~-°8K

[}

SN SE®s -8R

M
[ . 1 (4 1 (-1 a
.1 = Sin| arcCos| ~ |+ arcSin| ~ .2 =Cos| arcCos| — | + arcSin| — ¢
4 5 4 3
2 3 h
No4 = 3= Sin(2 arcCos[—D 4= COS[Z arcCos[—D ., L @
5 5 M
. ([ T= ) b1
.S =arcTan(Cos(m) + Sin(3 )) .6= Csc[arcCos(Sm[?D + arcSm(Cos(— ?Dj U
L 4 T
(. ~/ -
M
No5 =Sin(2 arcSin(a)), ,| U
T
M
No6 = Cos(2 arcCos(a)), ,| U
T
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TrigonometryExercise5 for No.14276

Cur]
a
J2 (-1 ,
.l =arcCos| ——— .2 =arcSin| — .3 =arcTan(0)
2 2 h
Nol=| .4=arcCos(1) S =arcSin(-1) .6= arcCos(—«\/g) , | @
3 1 M
7= arcSin(%] 8= arcTan(—«\/? ) 9= arcCos[EJ U
T
(. -/ -
[ 3 2
A= Tan[arcTan[— gD .2 =Cos( arcTan(«/; )) 3= Tan(arcSin[£

.4 =Sin(arcTan(-1))

b
JS= arcTan(Tan(— ZD

6= arcSin(Cos(

[\S}
\S]
5
~—

~NQE®=~8 8

3
No2 = e 137 3n Tr
.7 = arcSin| Sin| — p .8 = arcCos| Cos —T .9 =arcTan| Tan —?
«/; (5m . -1
.10 = Csc| arcCos —T .11 = Cot| arcCos| Sin| 7 .12 = ArcCos| Sin| ArcCos| ?
I (1 (45 ) ]
.1 = Tan| arcSin| 5 .2 = Csc| arcSin T .3 = Tan| arcCos ;
-5 -3 2
No3=| 4= Cos(arcSin[ED 5= Cot(arcTan(;jJ 6= Sin(arcCos{%D .
1 3 _ J2
.7 = Sec| arcCos 5 .8 = Cos| arcTan ; .9 =Sin| arcTan| — T
[ 1 3 5 -1
A= Sin[arcCos(—j + arcSinE—D 2= Cos(arcCos(—j + arcSin(—D
3 8 7 6
2 5
No4 = 3= Sin(2 arcSin(gD 4= 005(2 arcSin(;jJ
In . Tn (13® . 4n
.S =arcTan| Cos| — |+ Sin| — —— .6 = Cot| arcCos| Sin + arcSin| Cos| —/—
L 2 2 6 3 i
M
No5 =Sin(2 arcCos(a)), ,| U
T
M
No6 =Cos(2 arcSin(a)), ,| U
T
[Page = 0032]

N SE®=-~-s K

~NQE® ~5 K

):0.0:0:0:0.0.0.0:9:9.0.0.0:0:9:9,0.0.0:0:9.0.0.0:0:9.0,0.0.0:0.0.0.0.0:0.:9:9,0.0.0:0.0.0.0.0:0.9,0.0.0.0:9:9.0.0.0:0.9.0.0.0.0:9.9.0.0.0:0.:9.0,0.0.0:0.0.0.0.0:0.:9.0,0.0.0.0.0.0.¢



):9:9:0:9:9:0.9:9.9.9:9.9.:0:9.9.9.9.9:0:9.9:9.9.0.:9.9:0.0.0:9:9,9.0.0:0.0.9:9.0.0:0.9.9.0.0:0.9.9.9.0.0:0.9,9.0.0.:0.9.9.0.0.0:0.9.9.0.0.0.9.9.0.0.0.:9.9.0.0.0.:0.9.9.0.0.0.:0.9:0.0.0:0.9.9.0.0:0.0.9.9.0.0:0.9.0.0.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXKXXXKXXKKXXKXKXXKXKXXKK KK KKXKKK KL KK KK KK KK KK KX KKKKKKKKMSE /1-6700305-00033%XX
TrigonometryExercise5 for No.14380

.1 =arcCos(-1) 2= arcTan(ﬂ/;) .3 =arcSin(7)
3 3 3
4= arcCos[— £j S= arcTan[£] 6= arcCos[£]
NO] = 3 2 > s

M|§|N

1
7= arcSin(— ] .8 =arcSin(1) 9= arcSin(Ej

~NSE®T-~ s g

[ 2 1 1
A= Sin[arcSin[— g]) 2= Sin[arcCos(E J 3= Tan[arcSin(ED

T . 3n
.4 =Cos( arcTan(«/;)) .5 =arcTan| Tan| — ; .6 = arcSin| Cos| T

137 b 137
7= arcSin(Sin[— TJJ 8= arcCos(Cos( jJ 9= arcTan[Tan(T
3 NEL . .
.10 = Cot| arcTan| —T .11 = Csc| arcCos| Sin| — .12 = ArcSin| Cos| ArcSin
-3

5
[ Cos[arcSi“(ng 2= Sm(arcCos( 4 D 3= Tan[arcCosE%_D
vos=| =t 2)) 5Tl wesi2)) 5= cofwesi 22|

= Sm(arcTan(—«/_ 2)) 8= Cos(arcTa (%D .9:Sec[arcCos[@D

Ne——

No2 =

~ N CE®F~5 K

I\)|§|
N—
Ne—
L

~NCE®s-~s ¥

I 1 -1 5 4
A= Sin[arcCos(—j + arcSin(—D 2= Cos[arcCos(—j + arcSin(—D
6 5 7 5
1 2
No4 = 3= Sin(2 arcSin(ED 4= COS[Z arcSin(ED
b (1= . Sn
D 6= Csc(arcCos[Sm( p D + arcSln[Cos(— ?Dj

No5 = Sin(2 arcCos(a.)),

23
S= arcTan[Cos(4 )+ Sin[

~NQX®>~13 X

>

No6 = Cos(2 arcSin(a)),

b

NQX ~NCX
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TrigonometryExercise5 for No.14393

C ]
a
. ﬁ 1 . t
.l =arcSin| —/— .2 =arcCos| ~ .3 =arcSin(3)
2 2 h
Nol = 3 1 () e
.4 = arcTan| T .5 =arcCos| 3 .6 = arcSin —T M
.7 =arcCos(1) .8 =arcSin(0) .9 =arcTan(0) IZJ"
!

I (A2 . |3
.1 = Sin| arcSin T .2 =Sin| arcCos| —— .3 =Tan| arcCos
1
4= Cos(arcSin(ED 5= arcSin( Sin( j 6= arcSin(Cos(
7 13n
.8 = arcCos| Cos 3 .9 =arcTan| Tan| — p

Iﬁwﬁ
N |'\’I
N—

]

1

]

No2 =

L wla v
- w

17 =
7= arcSin(Sin( p
. ﬁ . Tn ) . «/;
.10 = Csc| arcSin —T .11 = Sec| arcCos| Sin| _T .12 = ArcSin| Cos| ArcSin T

A= Csc(arcSin(ilj 2= Tan(arcCosE?J 3= Sin(arcCos[@D_
No3=| 4 Cos[arcSin(— %B 5= Cot[arcTan[— szJ 6= cOs[arcTanGD A
s aeco 2] s tafanesi2) ] o -sifaretan 2]

3

Ne——

Ne——
~NSE® -~ K

L

~NCE®=~>2 ¥

1 -2 4 1
= Sin(arcCos[—J + arcSin(—D 2= Cos[arcCos(—j + arcSin(—D
2 7 9 2
5 2
No4 = 3= Sin(Z arcCos[;jj 4= COS[Z arcSin(gD
. Ilr (1= ) I1x
S= arcTan(Cos(7 )+ Sln[— 2 D 6= Sec[arcCos(Sm[ p D + arcSln(Cos[ 3 Dj

N QE®=~ 8 g

No5 = Sin(2 arcSin(a.)),

>

No6 = Cos(2 arcSin(a)),

s
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TrigonometryExercise5 for No.14417

M
_ ﬁ _ ;
.l =arcSin(-5) .2=arcTan(-1) .3 =arcCos| — T ¢
h
. (-1
Nol=|.4= arcTan(«/;) .5 =arcSin(0) 6= arcSm[;j , .| @
M
3 2
7= arcSin[Lj §=arcCos(-1) .9= arcCos[Lj u
L 2 2 )] T
!

~——
N—
|

1

|

S}
a
N~
N—
SNcE®s~s g

(A2 ! , 2
.1 = Sin| arcSin| —— .2 =Cos| arcSin| ~ .3 = Sin| arcCos| ——
2 2 2
) «/_ b ) S5n
.4 =Tan| arcSin| ——— .5 =arcSin| Sin| — .6 = arcSin| Cos| ——
2 6
No2 =
. Tn 8
.7 = arcSin| Sin| — ? .8 =arcCos| Cos| — 3 .9 =arcTan| Tan| ?
(43 n . 3
.10 = Csc| arcSin 7 Al = Sec arcSin| Cos g .12 = ArcCos| Sin| ArcCos T

3 j
]
[ 5 2 3 )] a
A= Cos[arcTan[ 1/_]] 2= Csc(arcSin[@j] 3= Cot[arcCos[— QD t
4 h
No3=| 4= Tan(arcSl ( D S= Sin(arcCo (—D .6=Sec(arcTan(6)) |, .| @
7 M
5 . -5 U
.7 = Cos| arcSin| .8 = Tan| arcCos| = .9 = Sin| arcTan| —
L 7 3 ] T
L /]
"]
i . 1 (2 5 (4 ] a
.1 =Sin| arcCos| ~ |+ arcSin| .2 =Cos| arcCos| ~ | + arcSin| — ¢
4 3 6 9
3 1 h
No4 = 3= Sin[Z arcSin[—D 4= COS[Z arcCos[—D ., .| @
5 2
M
([ 19x (5= . 41
.5 = arcTan| Cos(6 ) + Sin| 5 .6 = Csc| arcCos| Sin| ? + arcSin| Cos T U
L - T
!

No5 =Sin(2 arcCos(a)),

bl

No6 = Cos(2 arcSin(a.)),

b}
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